SW BASIC LINE SOHO

W 12 - M5x10 YBS Bolt

@ 20 - M5 Flat Washer

1 % 4 - M5x25 YBS Bolt
I X2

@ 20 - M5 Nut

@ 4 - @20 Spacer 4 - M5x12 YHB Bolt

4 - M5 Flat

Washer

4 - M5x12 YHB Bolt

12 - M5 Flat

12 - M5 Nut

12 - M5x10 YSB Bolt

4 - @20 Spacer

4 - M5 Flat
Washer

487 60810 0174



	Sheet1
	Drawing View2
	Drawing View7
	Drawing View9
	Drawing View10
	Drawing View12
	Drawing View13
	Drawing View16
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View25
	Detail View L (1 : 6)
	Drawing View27
	Drawing View28
	Drawing View29
	Detail View M (1 : 5)


